Section 7.2-Winter 2008

1. [sin® z cos® zde = [sin® z cos® z sinzdzr = [(1 — cos® z) cos® & sinzdr = [(1 — u?)u?(—du)

=f(u2—1:}u2du=f(u4—uz]du=;uﬁ—%u3+c=%cusa.r—%cuss:c—l—c

o

7. [T/ cos?0ds = [7/* 1(1+ cos20)d@ [half angle identity]

=3[0+ 5sin20];” = 3[(3+0)~(0+0)] =
13 f“ﬂz sin z cos” x dz = ..ruﬂ 1(45“1 z cos’ ) dx = fnﬂ 1(25111:6 cosz) dx = l /2 in? 90 da

0

=1 ﬁ:”‘z 1(1 —cosdr)dr = — Wﬂ{l —cosdx)dr = %[x—%sin‘ﬂx];“ =1(3)=

al

19, /'cos:r:+sm2:r:d —fCOSI+2SIHIcmxd&:—fcosxdx+f2cosxdxéfldu+2sh1x
)

sinx sin x sinx

=In|u|+2sinx+ C =In|sinz| 4+ 2sinz+ C

Or: Use the formula [ cot x dz = In|[sinz| + C'.

25. [sec®tdt = [sec*t-sec’ tdt = [(tan® ¢+ 1)*sec’ tdt = [(u® +1)% du [# = tant, du = sec® t dt]

=J”(u4-|—2u2+]}du=%u5+§u3+u+C=%tan5t+§tan3t+tant+(:

3. thanaxd:r: =I(sec2;r— 1)* tanxdx:f&ec4x tan.rdx—2f&ec23: tan;rd:r:+ftan:a:d3:

=Isec3x secr tanx dxr — 2ftan:c sec” :r:dx+ftanxd.r

=%sec4x—tanz.r—|—ln|scc.r|—|—£? [or $sec*z —sec’ x4 In|secz| 4 C]

3. :!,’: cntzde::f:’f’;(csczx—1}d:a:= [—cot:r:—:r]::iz =(0-3)— (—\.@—‘—;) =Vv3i—-%

43. [sin8x cos bz dx 2 [ 3[sin(8z — 5z) + sin(8z + 5z)]dz = 1 [sin3zdr+ L [sin13xdz

=—% cos 3r — %COS].S:I:-'—C

49. Letu =tan(t’) = du=2tsec’(t’)dt. Then [tsec’(t?) tan*(#?)dt = [u*(d du) = Lu® + C = L tan®(*) 4+ C.

Page 1




